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¢ (@ No. I - 2) : Read the a?lﬁrgf(y;m' 31-2): 7?57-/3'597575 Uz
pir\"f?:;ﬂ information and  solve  the w3 for 3 e YR ; {.59 9% J9 |
followt < ased on it.
quosrrl:tsa an intelligent baby girl, plucks HI3H, fog gUtHs 221 %34, Bar3Td €
Shak: grom her ‘father’s orchard on ten fost ¥ 5 Mg Uz @ gats feg Ay I3
apples “tive days. When asked by her 3 3
1 conse?™ " to how many apples has she | T BR T 3r met Y fir 8r & wdls
X moth‘zrd from the orchard daily, she gives | fou 3 I {93 Ay 33 3t 87 nimuzt w3 ?5
. 1;hucfl;uo wing sheet to her mother : oz ST it %r
Al Figure 1
3 \_,- - 200
' 175
R Sle w 165 U 180 0
.‘ I ;gm 160 FD 140 -
"h %.E\ i;?) - - "E 120 -
15 w o . g -
e .. B o =
22 60 ey
: ot & o —
3 20 .
mxzzmﬁb.mma gﬂ.‘?‘i‘?‘?‘:“ﬁc’
+ + + + + - + — ~ I
.qawglgﬁg‘ig:ggggé EEEEEEE
r: g ‘_L Three days taken at a time fea m B¢ 35 fos
ol
T Higared 392
W 280 280
£ g 210 27 "P% 270 270
A g 5
2 260 B 960
250 ‘
£y — R
S 5 230 --' v
[=7 G 230
Shedl W | 220
RN . 210
200 107
g e 23 2 2 9 5 200-
Z =% %4'9% T2 3 I % 3 %2 % "3
zqz)}ﬁé[z‘éﬁ
& 3l o3 = © & & 3 & 3
& 1?\-9-\ + + + ES + t~
Five days taken at a time | 0% - @a;ﬂ 'g; . ?}—:r?; R 3
Ud
L. What is the number of apples plucked - _
on day 6 ? 1. SR fes 33 At & st &t 3 9
(a) 45 (a) 45
S 35 (b) 35
) 25 (¢) 25
) Cannot be determined (d) forfos adt &3 77 Fawr
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2, lﬁ‘(“- |
OW magy '
detormine l‘l“‘.\’":‘l:‘l;\:‘n. in i||' Possible
Plucked e N “hambor of g |
-(n)t {;‘ by "‘nhnlmnt.nlu ? e
M 5
() 3
Dl'rvc(td') None of the aboyo
ction
table R‘ivv: g?{' }tv(::‘u::ﬁ  § W."' following
hlh‘rrmri(nmf Cricket "”:‘::’f;:;lin:’:rw:' )u.t.'-f)nr.y
Name Matehes l““i“RH Rung Avorago
Played Playog Scored
WA L PL L ko 48 | 1800 | 40
3--_\\ P2 | 50..] 50. | 2034 | 459
TVLES | 46§ 4. 11679 | 365
—Pd | ey 1639 | 406
im@_ﬂ_ —-38 | 1806 | 516
) P6 L 42 | 40 1445 | 425
, t, The average is caleulated by dividing the
<7 total runs scored by the total number of
7' matches in which the batsman got out.
§. Who among the following did not g’bt
5\3“ out for the maximum number of
WS s times ?
. v Jd) Pl
. ‘™ po
() P5
(d) P6
v’ .
W+ 4 If the average is calculated on the
7 basis of the total innings played,
" whose average will see the minimum
“ change ?
\$\ (a) P1
Y (b P3
(c) P5
(d) P6
b.

How many of the batsmen got out in
all the innings played ?

(a) 0
(b) 1
(e) 2

() Cannot be determined

(D
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AW et S

g (Ws fost ®, iam w3 At @
"t e § ot Y o

(n) 0
(h) D
(¢) o

) Qaz fed ot sy s
gerket (fiE 8: 8 - 6) : fs 397
g3art @ e Jrr ol gaaed) fare dda
& fgargg I5 |

o | a3 e | st | g | wies \
feféary | o= |
P1 50 48 | 1800 | _49'_0_4
P2 | 50 50 | 2034 | 452 |
P3 46 46 1679 | 365 |
P4 | 44 44 | 1539 | 405
P6_| 40 | 38 | 1806 | 516
P6 | 42 | 40 1445 | 425

ﬂﬂ'; Eaverage) 3 gﬁ&;w Id® I &t
ﬁ@@?ﬁ%ﬁ#ﬁ?ﬁ%&?ﬁ@zﬁ
famm 32 & 25 &% wiifoar Jrer 3 |

<) ¥19 e w9t Sfenr o
(a) P1
(b) P2
() P5
(d) Pe

-3)




JPI—

it i |

LU [ A [T ,
AL Wit f 1 Py 1, it und wlw tha guations hoged

WAL (i

i ’ “\ (] Litttiel/s Wil Ll uel 1 en

I

A Y \ A . » 21 J.

) | y Y gl |

LR lq v T:'; . ‘,
1 1 ! "l I ’

g i o0 a1 uy 16 i ”,,.,1”,1’;.?/1._/.1,M.
AT i’HHli Suiria

i

B RN s oo illown |, N 2l
1N I l.”Hl MO fpaeg froin A 1) 4 a4 from 217 4 M?’ﬂ;
(e W WHE vl of o 6 o I i
|;|.| ‘]””” “H"“N“ ”” h 4”‘, l/""

} i/
(e OO Y Wi 000 Hogpons

A gt et W AO0- Mol i+ Lh,200, s,
U U T T M TP e e
WO e gy
A SO0 T
U000 Yoy

Vaunds snd 365,000 Yen with bim, 1f be
hes wnidd b able 14 g ¥ Wt jacket on

()
()

246 Vounds
Cnnnm, b detizrmnined

(!
(i)

ettt (YU 200 7) el sl f ouliot Wt 7 ot et e oy 7 s

CIERT TS

R REETrr, P AL
h » o |/ _"’"'"_
wje I - /‘ e "
i | /' Pt
i ‘(
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20 un 860 ) dhe dt gl o
() 4,000 gy (h) BA0TRE
(0) (4,000 14 (d) 4,000 gz
1o e Nee W dhig A00 e YL Han gz 18200 FuZ, 225 UEE w3 35,000 75
di L e Qo ez wdten wit aue oo adit zaz raer 3 T w0 75 F fam w
rme mim Nee widle nagr
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P oy - 20;%’ #%,
erce . SN - ‘-
ntage wlgevg.‘lsérlbutmn of population Percentage wise distribution of land
- l .
Followmg are the animalg

under forest cover "
- Afri Beographijcg) regions : A - Asia, China, India, A2 - Auntra 14,
Py e Euro & = usﬁig‘ A6 — North & South America, A7 - Antarr:tsr;a,l "
Saslty = (Perce tage : i i (Percentage [and Area Under
Forest Cover) ntage Population of Animals) / ag
8. Which two

regi ; 2 . o
(a) A1, Ag o'OnS haviebghe ﬁzmAblﬁned hlght"fépolxlll?ggn d(,nmty(d) A3 A
9. Ifin the next 10 pulation of wild animals in Antarctica wif] increase by
: € rest of the world, what will be the percentage population
of wil animals in Antarctjcy after 10 yearg 7 |
/ (b) 10-59 (¢) 157% . (d) Cannot be determined
(Wi'S—S):ﬁWJf%G'a'” WF,“Q'?W%W@W?»MW%?W T IH g |

FEHT WS = (st @ s merfon) / G
8. ﬁag?&zﬁﬁﬁwaﬂa?#umm

(a) Al, A3 (b) A4, A5 e“r Y . ;%Jf ﬁg A6
- ‘_3 ! r:: a ’: : I ‘ -
9. ?gz.sryé‘uwﬁg?%?ﬁmﬁmémmeﬂm ﬁ,g'
FreHfit yFtEEsr faet a2t 9 afea
(a) 95%  (b) 10:6% (c) 16:7%

(d) %Hh??ﬁ.ﬂ‘aﬂ?mm
(D-6)
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I Il Major ebection, und 70 9L T oy Mo Z 2 = ==
AT T (e P . — =

| ¥ . mlmlmnunu:m has  revsived 1Y P %) 2H A s
requesls from flye (44 . ; UHItE ¥ i et - il
babeing o0l ey . lmlil,n.'ﬁnl parties  fur ‘,‘4-’. ¥ T TROZD 1A = =
: . ©ME procsssions whong the T L T e e
following rontes, b ST s 3 T B =2

" ’ i 1)

APk AL )4,/ . C/'ﬁ'-f;'f . A
L L ABD. il T
’ SIEVE A e > -
AAIN. . ABDY
M AL " o e
! N Py - s
B LB - ABCE
M LA RARIE. © BOCE
P o -5
IS A, 2 ALD
Hbroost 13- cannot, be yseod for s politics) .
procession on Thursdny due 1y 1 religionus BD medz § faa : TRAE TEE 3=
o =
proconsion. The district, administration hay | © 70 77 RS mE = = =
nopolicy of not. allowing more than one | 777 | W upRE F 55 == a5 = =
procession to pass slong the same strod, on A7 28 vz o Hax = i F ==
the snme day, However, the administration 27 Fr 5 & uEE T ooomes = 30y ol
2 BT RS : Ty
must, allow all parties to take out their | UaZf 7 2 = &= = - -
‘ | “ ~ e = e T=e s o=F
¥ sl g | T -~ = -
procession during these two days, gy m=E
I =
, T35 F Z %8 5= = p~—p ~ —
10, Congrems procession can be allowed | 19- TF57 Z 727 =1 e I3 R
' Ra= 3
(1) only on Thurgday.. } . N )
' (a) IBFBIAIT= 3
(h) only on Friday. X -
(by =% Fa====
(¢)  on cither day, o =
4 (¢) fam o=
(d) only if the religious procession is - - - e =
(d) 9= ¥3= TIH3 %8 I o=
cancelled, ol -
[ 4
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(D-86)




12. Which of the following sentences 1S

correct ?

Its finally a holiday, and my dog
is happily wagging its tail.

(a)

(b) Its finally a holiday, and my dog
is happily wagging it’s tail.

(¢) It’s finally a holiday, and my dog

is happily wagging its tail.

d) Its finally g holiday, ang my dog

is happily wagging it tail.

11, Which of the following is not true ?
(@) Congress and SP can take out
‘ their processions on the same
day.
() The CPM procession cannot be
allowed on Thursday.
(¢) The BJP procession can only take
- place on Friday.
! (d) Congress and BSP can take out
J ~ their processions on the same |
day.
'_ 12. Which of the following sentences is
[ correct ?
|’ (@) Its finally a holiday, and my dog
j is happily wagging its tail.
| *(b) Its finally holiday, and my dog
_' is happily wagging it’s tail.
|
f (¢) It’s finally a holiday, and my dog
is happily wagging its tail,
.(d) It’s finally 5 holiday; and my dog
is happily wagging it’s tail,
13. When I met her last week, she seemed
to be the weather.
(a) over
[ (b) under
(¢) against
(d)  None of the above
Paper ||
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4. ViMféar few aiftar wz 2t 4 aut

14. Ina meeting Rai
sentences wig),

or, ‘Excuse

following ?
(a)  Assertiye

fen 33t g qaet 3 B a9
aog. w e edEsT oW
q95T, U9..." gtz Harg @t faadt At

; & gt Y v
ﬁﬂuw .—u;mm—fwc a n ' E = "
Zmav:_pﬁﬂﬁﬁms? or E fezanygza Smmw;mce.
(c) Passive (h) Ufir= wadfre 7 éhusfes
* Nomafadioe 3 ﬁm@ et ot
) 8 -

15. Before any pe
met the client
him and ligte
points. Only
relevant infy

Botiation, Ramesh first pal ! i, O 0
informally, chatted with
ned attentively to all his
When he gathered al] the
'mation, did he push for a , : .l

negotiation. Ramegh was a % i wmmmuud = ¢
(a) Win-lose negotiator (a) 7 o Mn@ﬁ.@.&aa_ .

(b) Win-win negotiator AMW MH@wW@m@a

(¢) Lose-win negotiator (c) q_unarww.w feowfag

(d) None of the above

@) €3 foF 32t adt
16. Gita listened to the views of others | - ds gfanr < fearat & medt o3

and then analysed them according to Sy 8 9 ¥ nrg 3 femdRE At |
their merit. Her listening style was 8r & res-Adt

(a) Judging (a) fogafea

(b) Evaluative (b) H&faz

(c) Active (c) Wafez

(d) None of the above d) a3 feg aet 5t |

17. ¥ &= fa 3038 a5 12<uer fodftes

17. Suppose you have a 12-hour digital uer 3 foar feg firoz iz W2 & orer
clock where the number representing >

the hour is always the same as the
number representing the minute. That
is, the clock can only show times like
8:08, 9:09, 10:10, etc. What is the

3, &Rt viw o iz g erer ¥ 1 BR
o IR T fa e o At TeRr Haer
J 8:08, 9:09, 10:10 Td | feR yarg
€ T Afimi feg wBu=y B o nizg

smallest time difference between two | **, & ¥ 9
such times ?

(a) 101 minutes (a) 101 MIN
(b) 61 minutes _ (b) 61 ?N
(¢c) 60 minutes ¢ 60 fite
(d) 49 minutes d 49 fitz

Paper || (D-8)




18,

19.

(a) 2,38,5

(b) 2,8,4

() 3,4,5

d 1,4,6

Hina Yellow, Jhanvi Red and Leena
Gray each have a gray handbag, a
yellow handbag and a red handbag, | 19.
but none of them has a handbag colour
that matches their name. They met
unexpectedly one day. The lady with
the red handbag commented, “How
odd!” to which Leena Gray replied:

" «“Most odd indeed!” Which option about

the lady name and colour of the

handbag is correct ?

(a) Leena Gray —red colour handbag,

- Hina Yellow — gray colour
handbag :

(b) Leena Gray —red colour-handbag,
Jhanvi Red — gray colour
handbag

(¢) Hina Yellow — red colour
handbag, Jhanvi Red-yellow
colour handbag ,

(@ Leena Gray — yellow colouy
handbag, Hina Yellow — T€
colour handbag

(D-9)

1

Paper

Read these six conditional claimsg -

1. Ifit's an apple, then it's a fruit, .

If it's a fruit, then it's an apple,
It's an apple if it's a fruit.
It's a fruit if it's an apple.

o & G R

It's not a fruit if it's not an apple.

It's not an apple if it's not a fruit.

Out of these six conditional claims

which three claims have the answer as
Yes ?

lB.

foores & T vt et 81
ﬁmﬁaﬁﬁﬁ,?m%al
Ffeagnd, 3t feg FE I 17
o fa Y, Afeagm I |
frggmd, AfeaFE T 17
feq =5 &t 3, @ feg FE OO
T .
6. feg A= &dt 3, # feg 3® B9
1

ook D

it f womifient’ =7 €33 T 3
(a) 2,3, 5
(b) 2,3,4
(c) 37 4’ 5
d 1,4,6

(a)-2":51?5"31""’7‘_ﬁ‘aﬂarr%’-3%?“’Eﬂ?’_r
A% — 3 Jar IS
® Her g — IF Jar i
m.ag”_@;{é‘avﬁ_a’am
(@ T O —IF Jar I3, AISL
3% — OB Jar I
@ @t P — B Jar IsEa, For



20.

21.

Paper Il

Read the
carefully

information
the

following
and then
question given below.

answer

1. AAB means A is mother of B.
2. A@B means A is sister of B.
3. A*B means A is father of B.
4. A#B means A is brother of B.

Which of the following means R is
uncle of T ?

(a) R*P#SAQ@T
(b) S*PHR*UHT
(©) P*R#Q@S*T
(d P*R@Q@S*T

Warangal Warriors, Thapar Thunders,
Rohtak Rockers and Vellore Vikings
are four Kabbadi Teams who compete
against each other so that there are
six matches in order to decide the
champion.

1. “Vellore Vikings” is beaten by

“Warangal Warriors”.

2. “Thapar Thunders” beat “Vellore
Vikings”.

3. “Warangal Warriors” and
“Rohtak Rockers” beat “Thapar
Thunders”.

4. “Rohtak Rockers” beats
“Warangal Warriors” and “Vellore
Vikings”.

Who emerges as the champion ?

(a) Warangal Warriors

(b) Thapar Thunders

(¢) Rohtak Rockers

(d) Vellore Vikings

(D~

20.

21.

10)

s st fire a1 fad 96! R
yrat @ 83 fof |

I, AAB ¥ ngE 3 A, B & W3 |
2. A@B T g 3 A, BT 3FD |
3. A'BE wgEdABEfiErd |
4. A#BE nQ@E I A BT I J |

fovs feg' fam & ngg R, T & a®
J, gEer J 9

(a) R*P#SAQ@T

(b) S*P#R*U#T

(¢) P*R#Q@S*T

(d) P*R@Q@S*T

Shit 95 7 2 W few A3 & 3R® a@s

set fex on fedu ySiuet a5 |
TIfenay” & TIfemr |

2. ‘g H3w 3
Tfefdam” 8 garfenr |
JaEenr |

4, ‘IIY Fa@w© 3 o dum
3 garfenr |

aF 73 vF  Gfamr 9

(a) ¥II® TIENEH

(b) "UT ¥IIH

(¢) ﬁﬂ?&‘%’oﬁm

(d) T feflam

LT




22, The afternoon clagges in a school begin

at 2:00 P.M. ang end at 4:52 P.M.
There are four afternoon class periods

with 4 minutes between periods. The
number of minytes

period is

in each class

(a) 39
(b) 40
(¢) 36

(d 45

22, "a® few, we vfugy dntt q@H

2:00 ¥ efugw we g Jdrt v 3
4:62 3 Tfuge we yan Joat T |
v fugg g9 Wde g5 w3 g9
Lﬂ'u‘lb;a few g fitet o wagr 3 | a9
J&H Wi &3 fite wor D

(0) 39
(b) 40
(¢) 36

(d) 456

23. Ata party there are 3 large pizzas of 23. Y3 feg fext nrarg T ¥y @3 Ul
equal size. Each Pizza has been cut 51 I9 W9 ?5 & "arag fd iyt v
into 9 equal pieces, gnofthe first pizza e fdgr fammr ufad iy o 8

) 9
2!‘\ g )
has been eaten; §V\of the second pizza fOA wr fenpr famr . THY R i)‘
has been eaten; -;— of the third pizza fImr YT fon famr E’J; I U v 3
: ' 9
has been eaten. What fraction of the fOR v g famrr 3 35 Wit @
3 pizzas is left ? flst fomr moer 3 9
2I 0 \q \ u
(a) = @) 2 yH- pif°
9 9 . *
\¢ A
2 2 N
h) & £ A
( 7 (b) =
1 1
c) = =
( 3 (¢) :
1 1
d = d) =
6 6
Paper ||
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umes of Encyclopedia of | 24.
om sit in order on a shelt

upright SPace between the yolumes, all
\;isiblo ' l S0 tlll]t tl\oir Spil‘lOS are
Sole, left ¢ right : I, 11 and 1L

Each i
18 mm  thick, comprising

24 mm of ¢ k
of total pages and 8 mm for
bookworm bores from

L, to the last page of

Page 1, volume
volume 111, Hoy far does it travel ?

@) 90 mm
(b) 36 mm
© 72 mm
(d) 84 mm

v r o B
26) According to o survey at a company,

20 percent of the employees owned cell
phones in 1994, and 60 percent of the
employees owned cell phones in 1998.
From 1994 to 1998, what was the
percent increase in the fraction of
employees who owned cell phones ?

(a) 3%
(b)  20%
(¢)  30%
(d)  200%

26.

26. From 2018 to 2019, Mohan’s annual
salary increased by 10 percent and | 26.
Arun’s annual salary decreased by
6 percent. If their annual salarvies
were equal in 2019, then Arun's
annual salary in 2018 was what
percent greater than Mohan's annual
salary in 2018 ?

() 1691
(b) 13:34
() 1678
(d) 1098

Paper |l (D-12)
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e
. (et SR AL
L NI o

§ AT ° gt
S URED] W{:'{ﬁ; g Rra‘ﬂ‘ﬂ.ﬁ

e fam )

T 1wt @ 8" Cn,

gﬁ’ﬁ*ﬁ* o fis R ““"“'1: &t et

3 T AU ﬁ]ﬁ g
. fm e 24 mm 1 ;,-:\r N

30 mm, . N _—

f%'&;{ o' 3 mm HHS J l_'vtal{ﬂﬁl}[ﬁ‘: {:T

et Q uar 1= ? 4

il 3 @R D

D pydt US I we I < ¢

SR OIE U LE L

(®) 90 mm

(b)Y 36 mm

(¢) 72 mm

(d 84 mm

U few Fodua @ nEHT, 1994 N
200 SOHTTE MBS @ HS R
1998 feg ud ¥ 60% IeHudt AN
& R We 1 1094 F 1998 IR NS
Rr oy ot @ SIS
(fraction) few A  yfspy o
Jfemp 9

(n) 3%

(b)  20%

(©  80%

(d  200%

2018 3 2019 3IX, Ho§ @ A
IT 9 10% U G i nige
O IS IST 6% W | AT 2019
few Bgt dhort st syt warwg s
3t 2018 fRw e W@ s Now
2018 @ s3uT F f¥S yShg oy
At ‘

(2) 16:91

(b 13:34

(¢) 15678

(d) 1098
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27. A candidate scores 20

% and fails by
45 marks

and another candidate who
scores 45% markg gets 30 marks more
than the Minimum  required to pass

the eXamination. Fing the maximum
marks for the exXamination,

(@ 100
(b) 200
(©) 400
(d 300

. . = 29) : Based on the
information &iven below and diagram of an

Airline’s trips to 6 cities from New Delhi in

the year 2015 .
Distances from
New Delhi by Air
2,000

8

o

$

£

3

Number of Plane Trips from New Daelhi to
Ranchi, Kolkala, Panaji, Pune, Kavaratti, Munnar

Number of trips per month

Months of year 2015

Paper ||

27 @mmﬁmﬁmoﬁimqﬁm;mm.@w
.iwa%amwmmaxwmmn@a
:@?ﬂwﬂ@ﬁﬂ&mpmﬁsﬂw&m‘
sger 3, iftmr uR F95 ¥

viat 3' 30 Wi F0 B Fer 3 | utfemr

? TG U i TIAR |
(a) 100
(b) 200
(c) 400
d 300

TERT (yFE 3 28 - 29) %@%mﬂ%
3

FI&T w3 S2neEfEsg € aot fost
6 Ayt & 2015 29 gIer @ AP
g

q 1 I 1 1
. .__n:._,z_.h_,___,_w,oz

H'S 2015 {9 Wy
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Information :

1.

28.

29,

Due to some reason planes only mude
these  trips  before

or  after  the
January-Mnareh period,

The month of May offorg the

best,
weather conditions.

The easterly winds run at, 2 km/hour
east. to west all year,

Planes on trips to Ranchi and Kolkata
must push against the easterly winds,
Planes on trips to Panaji, Pune and
Kavaratti are carried along by the
easterly winds.

Planes on trips to Munnar cross the

current and so experience no counter
or favourable effect.

How far is it from Ranchi to Munnar ?
(a) 3000 km

(b) 2000 km
(¢) 800 km

(d) Cannot be determined

Taking account of the distances and
the winds, if a plane were to fly from
New Delhi to Kolkata (to and fro) and
another one from New Delhi to Pune
(to and fro) at a constant speed, which

trip would you expect to be completed
quicker ? (No stoppage)

(a)

New Delhi-Kolkata (to and fro)
(b) Both trips would take the same
amount of time
(¢) New Delhi-Pune (to and fro)
(d) Cannot be determined

Paper ||

28,

29,

14)

7T TTII drtbogt gt |
HE = i & it gme @
UHIH gaur i |
YOH Tt mrr g ysE T =y
2mﬂaq§m%#@é}wr*aﬁl
w?‘rmgwm 5 ugEt
I T fedu ot e e S
mmmmamma
mwmwfﬁiﬁnﬁaﬁ!

mﬁm%ﬁmﬁmgﬁ
B9 8 Bu & 7Y 5 | few w2 A
@@#%m?maﬁ
gae |

ﬁ?mégﬂﬁﬁ%%?

(a) 3000 fadtes

(b) 2000 fa@itzg

(e) 800 faiteg

@ forfez = otz v mamr

o 5 R 3 awezr § Qs sy
(@-wE) M3 fex J9 wow mSt
fEdr 3 & (rBz-w) Q5 =¥ =
faoft a=zor I 7R e we ot
&te =we T 7 (fast 7o)

(a) B fed-amas (nz-mrs)
(b) W wr3I o AT Bafor
(0 & fRF-ud Bz

(@) famfez =3¢ Sz 7 Faer

Directions (Q. No. 30
defined az being the mass
divided by the square
metres). The data about :
given in the table below.

| Person  Height |

1-45

1-50

1-55

1-7C

CICHCI L be

1-8(

Based on this data =
below :

30. Which of the

greatest BMI ?
(a) A

b B

(e)

d@ D

31. If an adolesce

10% and his
much will his
(@) Plus 119
(b)  Plus 10¢

(©  Minus ¢

(d Minug ‘:

Paper |)



Directions (Q. No. 30 - 31) : BMI is
defined as being the mass of a person (in kg)
divided by the square of the height (in
metres). The data about 5 persons has been
given in the table below.

Person ‘ Height (m) ’ Weight (kg)

A I 1-45 45
B ] 1-50 50
C 155 55
D 1-70 60
E 1:80 70

Bas
below :

30. Which of the following has

greatest BMI ?
(a A
(b) B
(¢ C

d D

31.
10% and h

(a) Plus 11%
(b) Plus 10%
(¢) Minus 9%

(d) Minus 10%

Paper Il

ed on this data answer the questions

the

If an adolescent’s height increases by
is mass by 10%, by how

much will his BMI change ?

A a5 |
2T

150 | 50 |
..

155 | %5 |

B
C ——

D 170 | 60
E

-

|

1-80 _,LJ

. -

2 839 feb :

30. %ﬁ*ﬁ%%ﬂ?éfﬁﬁnﬁﬁ&hﬂ)
A8 3 e T 7
(a) A
(b) B
(¢ C
(d D
31. 9 fex feamml® fonast & o€ 3
gg ¥ 10% <Joer I 3 6F ¥
A nmet. feg ot ufaeass niear ?
(a) UBH 11%
(b) UBH 10%
(c) HEIEH 9%
(d) HEEH 10%

(D-15)



. 32
lagram given below :
A.n automc_mbi}e Company hgag advertised for the appointment of trainee engineers ip
different disciplines, First the applicationg received are thoroughly Scrutinized and good
ones are called tq the main centre of the Company for twe written tests and g viva, The

written tests are of 2 hrs duration each.

The first written tegt E, checks the ge

test E, checks the basics of the disci

appear in both g

for final selectiq

= 33) : Answer the fi ollowing questions based op, the information and

1and E
n.
To minimize the

cost, the company
conduct thig exa

has decided
m in three stages.

to change the Procedure. Now they want to

that he/she wil go for next st
written test or vi

a
va. If he passes in this seco
third stage.

ge in which Company may tak,
nd stage, he will go for the rem

1 or Ez) and if
e his/her other

aining exam in

After First Stage

Out of 60 Candidates
(Who Cleared E; Test)

| Cleared E

but failed
After
First
Stage
Out of 70 Candidates \\
(Who Cleared E,; Test) _
Cleared E.

but failed

- 16
Paper || 0 }



< based on the information and

sent of trainee engineers in
roughly scrutinized ang good
sTitten tests and a vivg. The

und and the second Written
=ndidates were required tq
llowed to appear in the viva

ocedure. Now they want to

itten test (E; or E,) and if
ny may take his/her other

0. A candidate is rejected
or conducting each of E,,
- available from previous

t of 60 Candidates
ho Cleared E; Test)

Wﬁaﬁwﬁgma@%aﬁ;
Wﬁ?ﬁ"@?@?@ﬂvawgzlwgzwmmﬁm}mmﬁamﬁm
Wmmﬁm%wwwn@awmmmﬁamwﬁw
fEust usitfior & fifi udtfionr (viva) B Faet 3 | 759 87 TAdt mew § uH w9 e 3
57 89 Fralt IfSet udthionr met Shadt mew frg wEar | i
@ﬁ?ﬁg"b?%nﬁaaﬁéé‘ﬁwﬂmn@ﬁﬁauﬁﬁw(ﬁm)wmuﬁﬁr
ﬁﬁe’f»mfea%@sfrm%@ﬂﬁraﬁrawa | Eq, By mi3 Hftrg udtfeporm (viva)
wfea%ﬁaquﬁ@:ﬂeewsooguﬁm%:mwm?
100 @Hte=Tst v fefsoma nigs Susag T |
UfaEt nrerer few nnfing 3 39 100 Sfleea fed

Paper Il
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32 What ; | et 3 E
at is the Tatio of the “percentage of | 82 ° AeH 1

cangj
didateg clearing E, exam in second - N
st R
"8 after dearing B, exam in fist | U

sta,
g to Percentage of candidates ' ' : _ g =
1 €Xam in second stage after

lear; IWWWW,, el
clearing B, exam in first stage” ? E,
- s @ A D 7
(a) —'-?-_2_
3 4 2
(b) _3_:?_
7
(b) %%
(C) %.3_
. 0 42
@ 3.1 |
75 @ 8.1
7°5

33. What is the percentage of candidates
I s - . ) 33- @# T n
who are failing in second stage viva 3y Sitest & UEILEEY fast ¥ 3

exam after clearing E2 exam in first IR Red feg E2 '-W"\'fHYHT UH 95
stage ? % TRt Aew IECIY

RS yftfipopr
(viva) ﬁe’ﬁ'é‘gﬁ%?
(a) 66'7%
(a) 66-79
(b) 75%
(b) 759
(c) 25%
(¢) 259
(d) 333%
d 3339
paper |l

(D-1g)



Direc.-h'ons (Q. No. 34 - 35 . Th
questions are based on the information afif;

diagram given beloy :
A survey was conducted on g sam
cinema artists with reference
proficiency in the skil] of acting, si
dancing. The results of the s
depicted in the given Vennp diagr

B

Dancing

ple of 500

to their
nging ang
urvey are
am,

Acting
Singing

34. What is the ratio of the number of
cinema artists who are not proficient

in any of these three skills Xy to-

those who are proficient in all three
X3)?

(a) 5:
(b) 6:
() 3:
(d) 1:

O o1 -3 -

35. If all other data remains same, how
many cinema artists who are not
proficient in any of these three skills
should become proficient in all three,
so that the above said ratio between
number of cine-artists who are not
proficient in any of these three skills
(Xy) to those who are proficient in
all three (Xj) should now become
X):X;=1:4?

(a) 12

(b) 21

() 15

(d) 10

Paper I

W(Wa‘i- 34-35) ’%’UWE??
ww”@mﬁ?»ﬂvﬁyaﬁ

500 W—Wéﬁtﬁ?mé
g5, arfee i3 fi & grws & 7O A0
e it faor | R @ S 2
feg a2 2 o 3 wmfenr fimr 3

o

34, i qwar A feg fed' fah &t 769
ﬁgmﬁﬂﬁ(%)gmw
7 fi¥st 3t feuw gaare 96 (Xy) & IH
(ratio) at T ?
(a) 5:7
(b) 6:7
() 3:5
d 1:9

85. A9 gt wiagr feg Ifder T 3 &R
firen a@ad 7 38 gadt oo oms
5dt 95, g2 35t e g T A 3t
Bus nifas fmdwr awagt A fam &
Wﬁgmﬁﬂﬁ(&)%ﬁﬁf
9 (X o9 9% 6 & I/ o=
X):X3=1:4 T AR |
(a) 12
(b) 21
(¢ 15
(d 10

(D-19)




, Flight
Jow i diogr®™
Directions (Q. N ' tion give" o
: $ (Q. No. 36 - 37) : Based on the informatl
booking price scheme :
1
Select 4 . -
oo Select a Select number| | Belect further
destination flight of passengers
A i 5500 Rs. 22500 | A[TTEIEIE] Luggage in * Add Re. 2000 per item
17.00| Rs. 7500|| A[1]2[3]4 hold
B [06.00] Rs. 14200|| B
B | [sEmn ) 2R a2
C c [11.00] Rs. 6300|| C[i]2]3]4
C [22.00] Rs. 7200|| C[i[2[314 * Add R 900
D D [08.00] Rs. 8000|| D[I]2[3]4
D [16.00]| Rs. 10400 D[1]2]3]4
L AT

flight

* These additional costs apply to each passenger per

Jeﬁaﬁwmmm@ﬁ#mﬁﬁ'?wﬁ?

gt (YA 3: 36-37) !
e |
1 2 3 4
WS gBER yHed & WaBd
g ge frsftge || feamu g
hRS.22500 Al1]2(3]4 ' AHS .
A A f17.00| Rs. 7500(| A[1]2]3]4 78 #2000 JuE wrfeey & @
B B [06.00] Rs. 14200 31234
B [21,00] Rs. 9800 1[2[3[4] ﬁ Al i
- gt | *900 JuP @
C o [T00] Rs. 6300| | C[T2[3[a il —LT | woogue e
C [22.00] Rs. 7200{| C[112I3]4
- TIEIE
p [08.00] Rs. 8000|| D1121314 @“ ] e .
D b [16.00] Rs. 10400| | D[1]2{3]4 etz Ul_] 360 guw e
I § N s _
| T e
BHt @i

Paper Il (D-20)




36.

37.

38.

Paper Il

How much mope is the cost of g

Mmorning flight compared with gy,
aﬁel:lloﬂfl flight for g family of four to
destmatmn B with travel Insurance
and total three items of hold luggage ?
(@) %9600
(b) = 22800
() ¥ 4,400
d) = 17,600
A party of three book to fly on the 37
afternoon flight to destination C and
opt for total twe items of hold luggage
and the environment offset. How much
is the cost of their trip ?
(a) = 26,650
(b) = 25,600
() ¥ 26,300
d) 27,600
Set M has 42 students and set N has
60 students. At least 12 of the 38
students in set M are not in set N. )
Which of the following cannot be the
possible number of students in set N
that are not in set M ?
(a) 32
(b) 45
(c) 28
(d) 42
(D-21)

- — -

36. WW%%&WM,WB

3w w3 A ms e 5
eBEle WY Tfygy @ cmEle 6
fdat Tu a3 & 3 9

(a) ¥ 9,600

() ¥ 22,800

() ¥ 4,400

@) ¥ 17,600

35 foradmt @ mg 3 ¢ s st
¥ TT9 & @mEie § ¥ (book)
AT 1 B B AW Mm@ @
mﬁaﬁm%mwﬁé‘?jw
3T | Byt & few wrger & ahim off
J=ft 2

() ¥ 26,650

(b) ¥ 25600

(© ¥ 26,300

(d) ¥ 27,600

M%fegm%r%waa%aam%ﬁz“b:
kasof%ﬁbma’faalu‘féu}’zmﬁz*
%12&1%nrrau°rﬁz“N&am‘Faa:
fons feg A2 N T ifid 23 Herfes
k@maa%m‘l‘ﬁna%ﬁ%ﬁé‘M%g
adF 75 9
(a) 32
(b) 45
(c) 28
(d) 42




39.

40.

41.

Paper ||

When the following shape is folded to
form a cube, which is the only one of

the options from A to D that can be
produced ?

®
o] @
Options from A to D
A B C D

(a)
(b)
(c)
(d D

i\
A

Q w e

A container of milk was % full. When

5 bottles of milk were taken out and
3 bottles of milk were poured into it, it

was % full. How many bottles of milk

can the container contain ?
(a) 12
(b) 24
(c) 20
(d 15

The cost of mowing a square lawn at
the rate of INR 700 per hectare is
INR 4,375. The cost of putting a fence
around the lawn at the rate of
INR 4545 per meter would be (in INR)
(a) 10,000
(b) 43,750
(¢) 45,450
(d) 25,000

40.

41.

(D-22)

(d D
ij‘u?é&%aﬁwirféwﬁ’mﬂif
5 535 Tu Ot oT mE el
w3 5 935 o0 dvr ur e
A | %0 ¥ 9 fem fddmi du dhar
3% U A& I8 7

(a) 12

(b) 24

(c) 20

(d) 15

fea gomm mate & JeeEr I Sus
INR 700 yIt Jaes T fomg &®
INR 4,375 3 | 5919 € 99 UR o3
BT T i3 INR 4545 U3t iieg @
forme & feiat SRt (INR fem)

(a) 10,000

(b) 43,750

() 45,450

(d) 25,000

42.

=+ <=
gh;tih of th
corre"t?
(a) 24 x4 >
(b) 94 <4 >
(c) 24#4<
(d) 24 > 4 x

pirections: ( Q. !
foﬂowiﬂg

inform

questions using thi

There are five boy
in the first line fac
are five g'il'ls, A" B
second line parall
facing to the nort
sitting in such a w

43.

45,

A is sitting
q who is ju
opposite to |
B and r a
each other.
t is opposit
right of A.
Which pair
each other ?
(a) CD anc
(b) AC and
(d) DB anc

Who is sitti;
(a) B
(b) D
) A
@ E

“_fhich of
dlﬁgonally C
(@ ¢t

(b) Eq

© Ap

(d) Dp

Paper ]



42, |f > =h<=4Xm=pnd # = =, then
which of {he following equations jg
correct ?

(@) 24x45>20<2416
(b) 24<4>2042x 16
© 24#4<20x2>16
(d) 24>4x20<2416

Dimc;ions: (Q. No. 43 - 46) : Read the
following information and answer the
questions using this information.

'_I‘here are five boys, p, q, r, s, and t, sitting
in the first line facing south. However, there
are five girls, A, B, C, D, and E, sitting in a
secpnd line parallel to the first line and are
facing to the north. The boys and girls are
sitting in such a way that

* Adissitting at one end of the line.

* q who is just next to the left of s, is
opposite to E.

B and r are diagonally opposite to
each other.

* t is opposite to C who is just next
right of A.

Which pairs are sitting opposite to
each other ?

(a) CDandrt
(b) AC and sp
(¢) CDandts
(d) DB and sp

Who is sitting third to the right of C ?
(a) B
(b) D
(¢c) A
(d) E

Which of the following pairs is
diagonally opposite to each other ?

(a) Ct
(b) Eq
(c) Ap
(d) Dp

45.

Paper Il

(D -

42. ﬁaﬁ>=+,<=+,x:=m§#=—,3’
gt fed' foodt feoems (equation)
a1 -

(a) 24x4>20<2#16
(b) 24<4>20#2x16
(c) 24#4<20x2>16
(d 24>4x20<2#16 )

geest (Y75 3 43 - 46) : [5HE FIO O

ug w?(yy;:* & 657 poor & edI

Jfemft 28 |

U 793, p, q, 1, 8 "3 t ufodt @39 oo

HiE Ay 8 T5 | Bfds, Un sadmit 76,

A B,C,D »3 E # ufodt a39 € AHA3T

gRd o979 fev 839 Fmy ¥t T6 |

é?ﬁﬂ?mﬁfsﬂagf%gﬁﬁ
o AT3TR fEA N3 feg 38T T |
o g st fEaEH Yy ER feuds T |
e B3 r fea gmd @ Ffeaast
feudtzs 75 |
e tCRfUAE T 7 fd AT feaen

T

foga de fex gme 2 feudts 83 05 ¢

(a) CDMX rt

(b) ACM3sp

(c) CDTH%ts

(d) DBWM3 sp

CEHA UA StRTT dz 857 3 ¢

(a) B

) D

(© A

@ E

. for Fet i3 frod sfemdt fox
THY © feudts 0% 7
(a) Ct

(b) Eq

(c) Ap

(d) Dp

23)




By Q

. a

wil) P ang

.1. and q and K

Sitions, then who

on 1

\v]:l~, Person 4 the right

to t]( 'S opposite o the
18 right of D?

at, Ch

are E.lIl, Dinesh, Eeshwar
. Cousing, None of them are
birthdays thegﬁ, but all of them have

Same date Th.
years g)q

Which of the followin
(a)

(b)
(c)
(d)

g is not possible ?
Dinesh is 9g years old

Ferguson is 18 years old
Ferguson is 19 years old
Ferguson is 20 years old

48. If Bharat is 17 years old, then which of

the following could be the ages of
Dinesh and Chandan respectively ?

(a) 18 and 19
(b) 19 and 21
(c) 18 and 20
(d) 18 and 21

Paper ||

w3 E

8. d3g ¢ »3 D, pﬁ”feﬁ"ff] -

wnrdnt mfedrt 3 =

azwmﬁraw@”ﬁ

mﬁ%avﬁné‘ﬁﬁ?g”alg

2 foudlz 357 3 7

(a) r

(b) p

(¢c) E

@ C
W(Wﬁ“:aﬂ-ﬁ): mﬁygw
"3 17 3 nrf ypat & 9% a9/

E’GB_TH?TE(ﬁi?T(cousins)U??|f§#ﬁ?_aﬁ
ﬁ%%?ﬁ%uﬁﬂwgw
feae*rfeﬁﬁra’raufwfeﬁr‘ﬂﬁa?
17 7'& & 3 »3 ¥heq, A 3 @5, 22 A
T | TogEs B9 feg a3 IOS 0l
fedn 2 fewarg 3 | wifig 393 3 o7
"Ides g ey |
47. 85 fod o Hae at 5 9

(@) fedH 20 ATt or 3

(b)  ITH= 18 At =

(©) T9THs 19 At @ 3

) TITHE 20 Aot wr 3

48.

(D-24)



Directions (Q. No. 49) : Read the [ollowiny

statements and solve the question baned oy
these,

A
B
C.
D.
E.

19,

50.

Paper Il

Many ones are throes,
All twos are fours,

A few ones nre twos,
All fours are throoes,

All twos are threoes,

In the four options given below, three
statements are put together in a
specific order, Choose the option which
indicates a valid argument, that is
when the third statement is a
conclusion drawn from the preceding
two statements,

(a) DEB

(b) ACE

(¢c) CEA

(d) EAC

Which of the following statements
follows logically from the statement
“India will talk, only if the terrorists
are handed over” ?

(a) The terrorists are handed over,
hence India will talk.

India will not talk implies that
the terrorists have not been
handed over.

(h)

India will talk though the

terrorists are not handed over.

(c)

India will talk implies the

terrorists are handed over.

(d)

gt (s &: 49) B ;[ AT 4
wid V1 3w st 98 &7 1

50.

(D-256)

yas i &a wdli g |
AT 2l adif J6 |

ay @ 2 e |

frd @t Hdli IE |

g 27 dty T |

I fednt gra nurst fdg s o6
ety qu few 73 a® 95 | BT S
@ f5raan d € yifex 28® 39 |

(a) DEB
(b) ACE
(¢) CEA

(d) EAC

fést qust feg' faoar aws I9faa qu
foamser 3 ¢
(a) nrdqeEnt § Afinr famr 3,

(b) I93 IG &It A9 I I T X

famr |

(c) 3III 3B AIA IR nrSTTI M
3 Afimr a3t famrr |

(d 3T IS Jdar 3 IT I fy
EIECCICIRzRVI



g1, At s duffet, SiX sweets are Mrranged iy |
T ¢ cnowlar onder on g table. g,

i i
copesite. Halwa. There i ohe sweet
aetween Laddu  ang Jaleby.

_ ! Gulay
amun is . w thﬁ“ nght of Hal\\-a
Rassulla is one of the SWeets.

53. Who is the fourth ranker
Whi . (a) Charan
: C
sweet 13 two places [way to the left (l:f (b) Pavan
% Rassgulls 9
W Jalehi 54. How many persons :
ran ?
3 Halwa Fwnnis
(a) One
= A‘:‘as.methrEeistDbese]ectedﬁ.om (b) Two
SX persons van, s
%ims.\-an- :\man Dhawan and -
S3svan. such that if ope of Pavan and (d)
Sravsn is selecteg then the other mygt
2% be selected. I °ne of Raghay : 55. There are five rooms
snd Dhswsn is 0T selected ’then the A hall, kij:chen, stud;
other must not be selected. 1§ - : : and dining mm- Th
. : - each room. Wheneve
..xj{ &‘%ﬁcted then who must he i: on, the study
h ’ Whenever the dinin
g) Bhswvep the kitchen light is
- 1'
b Psvan the study room 1
¢ Raghsven
(d) None of the above

light has to be on. T
the most, can be on
@ 5

b 4
© 3
- 34) - These d 2
THERWR: are bogeq on  the fo}foumg {
mjOrmaoiion
Pavan Sravan

56. In ajoint family

C,D,E F an
married couples.
the wife of B, A
e is . erent height The tallest 4 of G. D is the f
e s g resker while Kirn 1s | & 98 7% 3 son Fow 3
';Ctiﬁtﬂ&dr‘anker'l‘amnista]lerthanat S o
== ™0 persons and is the third ranker. g @) Sister
T'“?%“Personistheﬁrstmnkerbut\@:rmm'f%meaaewsfeaﬁmaét? ® Undcle
€= noe - Sravan is taller than only | - S
) T Y, S s A Y
one Pﬂymand'ramn'mtaller than Kiran. | N
Paper

(©) Cousin

(d) None of tl
Paper ||
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(@) Charan
(b) Pavan
(¢)  Sravan
(d) Tarun
54.
§4. How many pPersons are taller than
Pavan ?
(@) One
®) Two
(¢) Three
(d Four o
85. There are five rooms in my house — a
hall, kitchen, study room, bedroom
and dining room. There is one light in
each room. Whenever the kitchen light
is on, the study room light is off.
Whenever the dining room light is on,
the kitchen light is also on. Whenever
the study room light is on, the hall
light has to be on. How many lights, at
the most, can be on simultaneously ?
(a) 5
(b) 4
(e) 3
d 2
56.
56. In a joint family of seven persons A, B,
C. D, E, F and G, there are two
married couples. G is a housewife. C is
the wife of B. A is the granddaughter
of G. D is the father-in-law of C and
father of E. F is A’s brother and B’s
son. How is B related to E ?
(a) Sister
(b) Uncle
(¢) Cousin
(d) None of the above
(D-27)

e de g D | T & sefder I
& et wat Jet 3, IAE & TEE
& ot F T | AS HeSt gH & HEC
at I D 3 Tw o wEle f vt
5& gdter 3 1 fea By faomer 3
At I& 7

(a) 5

(b) 4

© 3

@ 2

AUa3 ufgeg feg, € feefos w3
I5 | G uUIG UIS I | C, B T u3A
T 1 AGTIWs3ZecII | D, Cw
AT IMI ET fusrd | F, AT 397
INMIBTUITII | BT E 55 ot
fomsr 3 2

(a) 3=
(b) n»ia®
(c) afvs

@) 83 feF Tt wdt



57.

59.

that containatOIe vodka from hottle A
replaced whed 50% aleohol and he
vodka from [a,t he had stolen with
alcohol. He uﬁttle B containing 20%
bottle B, wh; sed water to replenish

h ig et
bottle A. € 1s twice as large as
After the mixing, alcohol

c
ontent of bottle A reduced to 30%.

What 1s the
now ? alcohol content of bottle B

(a) 667%
(b) 10%
(¢) 13-33%
(d 15%

%’:1;9 Of_' CODSI}mption of coal by a
motive varies as the square of the
speed and is 1000 kg/hour when the
sgeed is 60 km/hour. If the coal costs
1.: e railway company 15 paise/kg and
if the other expenses are
12 rupees/hour, what becomes the
total cost with a speed of 30 km/hour ?

(a) 270 paise/km
(b) 165 paise/km
(c) 49-5 paise/km
(d) None of the above

A completes % of a certain job in
6 days. B can complete % of the same

3
job in 8 days and C can complete yi of

the job in 12 days. All of them work
together for 4 days and then Aand C

quit. How long will it take for B to

complete the remaining work alone ?

(a) 2:67days [ i Sk
(b) 3-33 days _1”;4:;— ‘T\
(c) 4days g

(d) 4-67 days

Paper || ;g .

51. fsaavqéza_aagaAﬁﬂfaam%

Wa,%mwﬁaﬁ
o o Jor 3 @R § 30 B,

= =

el i FmBE, AESBATE
g wag @ 3, uel 58 39 I I

(a) 667%
(b) 10%
(c) 13-33%
(d) 15%

. o= fErs T a5 & w3 T ©

W%W(squme)mm
w3 7e 3e39 60 foB ygt ue
jﬁ%?f&rmoofaﬁmb%uﬁaa
S5 & o 352t § 15 DA/EB
ﬁﬁ%m%ﬁaaﬁaw%mg@fub
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80. A book ¢

(a) 9
(b) 8
(e) 6
d 5
61. A ladder reaches a window that is 8 m
above the ground on one side of the | g1.
str:eet. Keeping its foot on the same
point, the ladder is twined to the other
side of_ the street to reach g window
12 m high. Find the width of the strect
if the ladder is 13 m.
(a) 152m
(b) 14m
(c) 146 m
(d 12m
62. Sanjay writes a letter to his friend,
Kesari. It is known that one out of | 62.
10 letters that are posted does not
reach its destination. If Sanjay does
not receive a reply to his letter, then
what is the probability that Kesari did
not receive Sanjay’s letter ? It is
certain that Kesari will definitely
reply to Sanjay’s letter if he receives
it.
10
(a) —
y 19
9
(b) —
10
1
(c) —
) 10
9
d) ——
) 100
(D-29)

ntains 10 chap wa, g
chapter has g different 'n:.ur\lui'm::;'
pages, TAnging from 20 (4 30, Tho fipgg
chapter stapte on page 1 and vnchl
chapter startg on & new page. What ig
the largest possible  number  f
chapters thgt can begin on odd page
numbers ?
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60,
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niftmirfE few 20 3 90 o naa nhf-ﬂ
frafl @ US aw o ufer niftmrfd s
Saa 1 2 gy der o g ntlimf'l‘_’:
S US 2 oordy Jer 3y frmeer A
fimmar @8 Aafes [adl @9
niftmme®, Wi (odd) N @ s we
nirds J Had aw ¢

(n) 9

(h 8

() 6

(d b .
fear O medle @ fow um uadl F
8 e GUg & fumelt Ja sl D
@R iy 3 Do Jufonrt Gt U §
Fedte g Uit 12 e Qo firal
EC ug'l‘az-vse? " famr | Aag U
13 Mieg ¥ 3t mag o daet 89

(@) 162 Mlew
(b) 14 Hlew
(¢) 14-6Mteg
(A  12xes :
ﬁ‘ﬁm@ﬂl‘aa&na‘fﬁtm foseer
1 feT oumr Y fy g few u et
uzet e few U39 ifiw Yx adt
UgEE | #99 FR § wm@ uge e
A &t fumer 3t fow o Haear
(probability) ot 3 f& awdt § i e
U3 & At fufenr ¢ feg fspfag D
ﬁsraﬁa"ma’ragaﬁir?jeaa@wﬁaa
8r & Usg yuz § #ter |
(a) 10

19

9
(b) 10

1
(C} E

9
(d) 100
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1)
m“m‘nm_ : "
0

forofgn  Inngungoen
forolgn — Inngungon
' l"l‘unch. Gorman nnd
the numbor of peoplo
of thogg mubjects nro B0,
Of Mudong, ‘:(:Ilnctivnly. The number
of the thre 0‘ Budy more than one
“ Bubjocts in 50% moro than

of 8tudonts whe atudy all
Bubjocts,

Study q))
]angu agos ?

the Numbygy
the thl‘(}n

studens How

many

threo  foroign

(a) 18
(b) 24
() 36

(d) 42

Three alarm clocks ring thoir alarms
at regular intervals of 20, 21 and T
minutes respectivoly. If tho clocks
beep together at 12 noon, for which
value of T would they boop togothor
again at tho earliest ?

(a) 8 minutes
(b) 18 minutes
(¢) 28 minutes

(d) 38 minutos
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(¢) o6

(d) 42
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A person of 6 11, height wants to pluck
a fruit which in hanging at, Ly
distance from the top of u 20 f1, h/guh
The

distance of 28 ft. from the tree throws

trec, person  standing  at, 4
a stone, which hits the top of the tree,
The man moves towards the tree and
throws another stone again at the
same angle, this time hitting the frujt,
Assuming the stones travelled in
straight line from the hand till the
target, what i the current distance of

the person from the tree ?

(a) 211t

(h) 181t

(e) 151t

(d 9ft

The cost of 10 pears, 8 guavas and
6 mangoes is 7 44, If the cost of each
of the fruits, in rupees, is a natural
number and cost, of no two fruits is the
#ame, find the cost of 4 mangoes and
3 guavas,

|2~

(a) 217
(h)y = 18
(¢) 7 14

(d) Cannot be determined
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Read the o)
ead the .rofmzvt'r:.s oa
n 75,0 SUlqon. ——
What is 0. 75t R bel Y and answer the
C‘ﬁ-;e IS ¥our jg, Sootae
Aste 13 3 ats UClety if
of Qestion th. o You do not want
You. If You gek at g ‘und to be asked
T A ask 0 be ask
SOQiety baseq o me: Y ideq] would ;‘e‘\
Fraternity Ang T Liberty Quality \;
w o L = v ~ Y ANC
can th@h?betg why Rot? What ob‘iwtion
ot ifnagine

Fratemity?
mobile. ..

... - = C\
there shoulq e SO shoulq
g Ao .-51; Iterests consciously
moeracy is
£ "®Imment, It is
4 Sociated livine, of
= g, of
MMunicateq SXperience. It js

Questions

g ' 2 ) ‘11- he Sense of g
ght to life and limb l‘. ' i

haoawbe 2. 0o+ 200 - AN, \ t
hbel't_\” to ben efit b__v —h'\ not allow

effective and

competent use of 5 Person’s powers ? The

SUPPOTTers of caste who would allow liberty
In the sense of 5 right to life, limb and
proper t‘:": W_C‘Uld not readily consent to
l}berty n this sense, inasmuch as it involves
liberty to choose one's profession. But to
object to this kind of liberty is to perpetuate
slavery. For slavery does not merely mean a
legalized form of subjection.... It is found
where, as in the Caste System, some
persons are compelled to carry on certain
prescribed callings which are not of their
choice. Any objection to Equality ? This has
obviously been the most contentious part of
the slogan of the French Revolution....
Equality may be a fiction but nonethelfess
one must accept it as the governing
rinciple. A man’s power is dependent upon
P hvsical heredity, (2) social inheritance
(1) phys F form of parental care,
ndowment in the for e T

or € of scientific
education, accumulation

eentive as passible to the full dovelopment

O everyone's powers. But what would

happen if men were treated unequally as

they are, in the first two respects Yo It s

\jb\‘imls that those individuals also in whose

favour there is birth, education, family

lame, business connections and inherited

Wealth would be selected i the race. But

selection under such circumstances would

not be a selection of the able, 1t would be the
selection of the privileged.... On the other
hand it can be urged that if it is good for the
soclal body to get the most out of its
members, it can get most ont of them only
by making them equal as far as possible at
the very start of the race. That is one reason

Why we cannot escape equality. But there is

another reason why we must accept

equality. A Statesman is concerned with

Vast numbers of people.... The Statesman,

therefore, must ... treat all men alike not

because they are alike but  because
classification and assortment is impossible.

The doctrine of equality is  glaringly

fallacious but taking all in all it is the only

way a Statesman can proceed in politics
which is a severely practical affair and
which demands a severely practical test.

75. Which of the following is NOT a
reason that the writer gives for
desiring equality in a democracy ?

(@) It makes people equal as far as

possible at the very start of the
race.

It ensures that the preexisting
social equations continue.

(c) Statesmen deal with large
numbers of people who are too
vast to classifyv and assort.
Statesmen require a practical
plan of action to proceed in
politics.

(b)

(d)

1 . ables him to | 76. According to the writer, Supporters of
il evgmﬁg;hlzﬁeensa"ag& and caste would object to liberty in the
be more efﬁClEiI; own efforts. In all these sensegf o
Bnally; 12) 52 are undoubtedly (@) right to free mov ement |
three respects menti on is, shall we treat (b) right to choose one’s profession
unequal. But the qlmsuse the:y are unequal? (c) right to life and limb
o une%ua]éb:;aable to give as much (d) right to property

may be de
! ’ (D-34)
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77. What are the thy
men are <
according t ¢}
@) Physica)

Propert ' Hj
(b) o

ee aspects in which
undoubtedly unequal,’
1€ Writer ?

heredity;  Parental
S own education
Physical appearance, Parental
mheritance; His own enthusiasm
P}}YSical strength; Social status;
1S Own Spirituality
Physical heredity;
lnheritance; His own efforts

If selection
birth,

(e)
(d)

Social

78.

1S done on the basis of
education, family name,
usiness Connections and inherited
Wwealth, then it would be
(@)  selection of the privileged
()  selection of the able

(c) selection of the meritorious
(d) selection of the fortunate

Read the following passage and answer
Question Number

s 79 and 80 with reference
to the passage by choosing the most
appropriate option

Feminism gat its core is about equality of
men and women

» Dot ‘sameness’. So many
people offer up the argument that women

weak

not possible. If there were two young boys in
a classroom, and

one was physically weaker
and smaller th

an the other, would we
believe it’s right to keep the weak

er, smaller
boy from having the same access to the
teacher, to learning, to the computers, to the
books and class reso

urces, to other children
in the class — because he didn’t have the
same physical strength as the other boy? It

is critical to understand that “same” does
not mean “equal.” The issue here is about
equal rights and equal access  to
opportunities. Men and women don’t have to
be the “same” physically in order to have the
right to equality. Feminism as an ideology
has always been highly controversial. It
asks such questions as: do women have too

Paper Il

(D -

; . Ty
r too little power? .It is not on
::]:Jl:lﬂ'lovc:arsial as far as traditional defegderz
of the status quo are conc_emecl. omf
women feel that they are in favom.'do
equality with men, but do not like thg idea
of feminism. It has been said that we live in
a post-feminist age and some contend that
the main goals of fermmsm have been
realized, so that it is quite unnecessary for
feminists to contmqe ];he1r argl_m}ent
against male domination, ~ Feminism,
however, is also controversial in tht_e sense
that different feminists mean different
things by the term. There are different
varieties that seem to have little in common.
Just as writers have spoken of socialism, so
feminism has also been presented in the

plural in order to indicate the diversity
involved.

79. “Men and women don’t have to be the
“same” physically in order to have the
- right to equality.” Why ?

(a) Because the theory of feminism
promotes that men and women

are no longer in a classroom and
can have equal access to learning,
books and class resources. _
Because the theory of feminism
promotes that both men and
women are anatomically same
and  therefore possess equal
mechanical strength.
Because the theory of feminism
promotes that men may or may
not be feminists hut they believe
in equal classroom learning.
Because the theory of feminism
pPromotes that being «

(b)

(c)
(d)

80.

“same” doeg not mean “

at does this sta

tement imply ?
a) All men ang

women are “game”
but never “equal”.

(b) Only men and women wh are
eminist can he “same” apq
Sometimes “equal”.

(e) .0 an or woman €an either pe

@ same” or “equal”.

€N and women ar

€ not “same”
but can he “equal”. -

35)



